Wit it B B R R A BIAERRR R AT R FEARBA (SFSEE (ETEH))

BFEOHE (GHED —
o - e IR LS P e | snens | mEmwE |nEseo . e
EtE F E3 i = " = o 5ETH :
No DR BRI (H 22 B4 %) (A) B&B) (c) %%2%)%%)
DFEDORE (XMAREE . HRHEEF)
OTrLF— BHRMEEEODESHOLELZITTOIERTIFRRH IXNE—BHSEEEODESHOELELZTTOIERBIE
FORFWRIBEERT L0, 1HHLYTFAEXHET S, RRUTORENEIBEERTHH, 1HFL-Y7BFAEXHBEL
QERBEHFEADHNERVEHE f=o
EFTGHBEREES | 1. BffiEh ®‘f"ﬁ§(7oocoﬂxn%u5ﬁ€r“ A OERBIERRHH5,2001H#H=364000 [HRMFHISHLTS
1 | RBAERIDE (CEREEE - M6E1AETICKHM|  346450818| 346,450,000 0 818 R6.3.31 [[HEMFITHLTHMOE1 AETICKMERWTS (WAIDX
SRR E] F% $7}§§ 8019FH L) #aRAIR) 4.8821H%) ]
EHREONE FRE(FHAME) . BHEBEHE) . FBETH. A
& ZOfELTRH X506 4 B Wil i B 3 S BB R SRR M 5 B AR R B 32 417,710,000
@SHSEES OERRBIEZRR M (5,2001H7) A&L
DTFrLF— BHGEEEONEEROZELZ T TV INEERTEE
EEBICHLTXESERAT S,
O%iEs. /HBE
@Eﬁ-ﬂ% O%iES 12240$H(?aﬁa’r,§%)\m&m (K#R4%) 800,000/ x 144=800 A0FBITBEFEIRLF—EREEROZEERIT TV DN ERE
MBS T B, = |10 TEER, RN EE B IEE. 2 A RRIEE600,000 X 35 = BREEEEEFCHLTRESERI L,
ey || OEED | ,% 1,800F A, BHEMBRAFE LT E, AR E DN EE NEUERS BRERSTIES
1B lexim %%(En%u% SEREEE Zia%l petiy 260,000/ x 84 =2,080F M, &R 5%100,000M x 13#4=1,300FF. & g,\mﬁ\iﬁ 100% 12,243,780 1,300,000 0 10,943,780 R5.7.25([#411 2 HLTHEEE~DIRE 100% (645E:K)]
m\;;) F5% e |TE% 180000M x 16=2880F 1, BEA HEX 1B % 1000007 X 134 =1300 =
%i#"ﬁ B F . EeE A (E £ %260,000 X 8=2,080F F) MFEOOF A )L R BREIE 33 15 # 75 Bl 4 BB 32 44 526,900,000/ 7E
= BEACF A GRISEMECT) %
FROOF A )L R SRAE R 5 i 75 B £ R 3E 43 & 6,900 F 3, —AREHR -
5146 F MF Y
ONERREEEEEE




